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1	Introduction
In the last meeting of RAN4 #100-e, the time plan and measurement device handling are discussed to facilitate the FR1 lab alignment activity. Based on the tight time schedule, this paper presents our considerations on the method of PAD measurement result alignment to filter the qualified lab for next step of commercial device measurement.
2	Discussion
From current reply from NR MIMO OTA reflector, there are seven lab volunteers joining the lab alignment after channel model validation passed. While four candidate PADs are measured. 
In this condition, supposing every PAD is measured in all the seven labs, seven measurement data will be collected during lab alignment activity. A method is needed to decide which measurement data is satisfied and which one is not. Two options can be considered, as listed below.
· Option 1: naming the Reference Lab for alignment activity, and PAD measurement result from the reference lab is the reference value of the PAD, and other labs should have their measurement results falling in the reference value +/- [XX]% as satisfied performance. 
The challenge for this option is that whether the consensus can be reached on one reference lab.
· Option 2: the average of all the seven labs measurement results are treated as the reference value of the PAD. Exception point can be excluded before average data processing. The labs should have their measurement results falling in the reference value +/- [XX]% as satisfied performance. The disadvantage of this option is that the reference value of the PAD can not be calculated until all the seven labs finish the PAD measurement, and this will probably affect the time plan of the lab alignment activity.
· Option 3: as a compromised option, once the PAD is measured in four labs, i.e. over half of the participating labs, the averaging approach as Option 2 can be used to derive the reference value of the PAD. And other “late” PAD measurement results should respect the reference value.
From perspective of easily perform the alignment activity, we prefer Option 1. If the consensus on Option 1 can not be reached, we propose to adopt Option 3 to derive the reference value of the PAD.
Proposal 1: discuss the method of how to decide which measurement PAD data is satisfied and which one is not.
Proposal 2: If the consensus on Option 1 can not be reached, adopt Option 3 to derive the reference value of the PAD.

3	Conclusion
Proposal 1: discuss the method of how to decide which measurement PAD data is satisfied and which one is not.
Proposal 2: If the consensus on Option 1 can not be reached, adopt Option 3 to derive the reference value of the PAD.
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